A STORY OF UNITS Lesson 11 Exit Ticket m

Name Date

1. Find the area of the rectangle.

Ix § = (4x5) + (3x3)
8cm S/\s - 40 + ’J'f

8cm = {IL',

Bx8 =64

2. The rectangle below has the same area as the rectangle in Problem 1. Move the parentheses to find the
unknown side lengths. Then, solve.
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q cm Area: 8x8=(4x%x2)x8
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Area:ﬂsqcm

EU“KA Lesson 11: Demonstrate the possible whole number side lengths of rectangles 144
with areas of 24, 36, 48, or 72 square units using the associative

MATH" property.

This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G3-M4-TE-1.3.0-05.2015



